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Question 3 Start a new Booklet Marked by CRA

1
Consider the function f(x) ='—‘3——.\:1 -3x

a) Find the coordinates of any stationary points and determine their

nature. 3
b) Find the coordinates of any points of inflexion. 2
€) Skeich the curve showing eil critical points. o 2
d) For what values of x is the curve concave up? 1

TASIK CONTINUES ON PAGE 4

Question 4 Start a new Booklet Marked by CRA

n) Consider the curve below of f{x), with tuming points at x =« and
x=0

[ SRR

-

For what values of x is the curve decreasing? 1

b) Inthe disgeam below, P is a point on the curve y=x"—4x+7, and Q is

x-3 :
a point on the line ¥ =TT. P and (J have the same x coordinate.

— v
" -
i) Show that PO =x* -9—2x+1?7 . _ 1
it} Hence, find the mininnsm distanc;of PO 3
END OF TASK
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